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1.1 (3A-4C)-(2i+3A-2B)
(105A +240B)-(105A +204B)

hosA +2401§“2
13 A-B+B-C-(A+C)-B (3 ATLUL)

2. fwnwes A=mi+] uar B=4i+3] 2mwa1 m Taserdssiuideulusielull
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3 fanwes A=(2,-1,3) . B=(0,1,7) uaz C=(1,4,5) @

3.1 (A X B) xC

32 (AxB)-2C

33 (BxC)x (A xB) (3 AZULL)
4. mmaumﬂadssmuﬁﬁqm (1,3,2),(-2,0 -2) uaz (1, 4, 3) agjuuasmu (1 Agiluw)

5. JIMNTLHLNNAIRINTEIINTLUUNTAUNT 3X - 4y + 12z + 4 = 0 warsyurundlaunis
3x -4y +122-22=0 (1 AEluU)



6.8ty =t2+3, gt)=200-3t, A()=t-tFj+2k way B(t)=i-26+3t°k
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62 4 (CA()-B()
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r(t) = (4 coS t)l + (6smt)J + (2smt)k nt= :1— (1 AzLuL)
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r(t) = (4 CcoS t)l + (9smt)J N t= Z (1 AELLU)
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X = etcost , Y= etsint, z=t 7t Tng (o<t <) (1 Azwuw)
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x(t)=e' y(t)=e'sint, z(f)=¢'cost W 0<t<dr (1 AZLLUY)
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#(x,y)=yln(x +y) fige (-3, 4) (1 AzLUL)
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f(x,y,z)=x2y2+4xz7‘ P(1,-2,1) ; A=2i-j-2k (1 AZLUY)

13. 3amilanesiaudves F (V- F)

13.1 F(x,y,2)= (xf+yj+zﬁ)/ x> +y*+2°
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13.2 F(x,y,z)= sin(x2 +y?+7° )I +cos(y + z)] (2 Azwuw)



14. asiAsaves F (VxF)
14.1 IE(X, Y, Z) = exyf - cosyj + sinzzlz

14.2 ﬁ(x, Y, z) = (x2 +yZ)i + (y2 + 2]+ (z2 + xy)k (2 pELUU)

15. W ¢ Wudulrsdafiaumsdemulsiesux =1, y=r>, 0<t<1 991

[x+ydc+ (2 =)y (1 pzuww)
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_[(x +2))dx + (x — v)dy e Cihudulfex = 2cost, y = 4sint, 0 < ¢ s% (1 AzLUL)
17. awduindadiaduluyial 3 Dselud

_[F-df il ﬁ(x, Y, z) =zi+xj+ yk
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[3x2yzdx +xzdy +(x’y — 4z)dz

de C uduldex?+ 2 +22 =3 ,y=x 910 (1-1, D WU (1, 1, -1) (1 AzuuY)
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o ¢ Wwrena x—4)+@y-1)=2 (1 Azhuw)
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